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1. If the diameter of a medium pizza is 10 inches what is the circumference and area of the pizza?

Answer: To find the circumference use the formula pi x diameter. 


3.14 x 10inches = 31.4 inches

Answer: To find the area use the formula pi x radius2. If the diameter is 10 then 
the radius is half of that. So 3.14 x 52 = 78.5 inches2
2. If a large pizza has a diameter of 14 inches what is the circumference and area of the pizza.


Answer: Circumference = 3.14 x 14inches = 43.96 inches

Answer: Area = 3.14 x 72 = 153.86 inches2
3. If there are 8 slices in each pizza (medium and large), how many pizzas would you need to have 40 slices?


Answer: To find out how many whole pizzas are needed divide 40 by 8. So 
40/8=5 pizzas needed
4. If there are 8 slices in a large pizza with an area of 153.86 inches what is the area of each slice of large pizza?  (Hint: take the total area of one large pizza and divide by 8 to get the area or each slice)


Answer. So 153.86 / 8 = 19.2325 inches2
5. If there are 8 slices in a medium pizza with an area of 78.5 inches what is the area of each slice of medium pizza? (Hint: take the total area of a medium pizza and divide it by 8 to get the area of each slice)


Answer: So 78.5 / 8 = 9.8125 inches2
6. Medium pizzas cost $12 a piece and have a total area of 78.5 inches2. Large pizzas cost $15 a piece and have a total area of 153.86 in2. How many medium pizzas could you get of $65.00 and how many large pizzas could you get for $65.00? Which size would give you the most amount of pizza for $65.00?


Answer: How many medium pizzas for $65?--- $65/$12=5.4



How many large pizzas for $65? --- $65/$15=4.3



To see which gives more pizza do….Medium = 5 x 78.5in2=392.5in2


Large = 4 x 153.86in2 = 615.44in2


Therefore 615.86 > 392.5 your answer is large pizzas give more for $65

7. If Philip is building a circular fire pit and wants to use a flexible band of metal to go around the outside of the fire pit. If the circle is to be 24 inches in diameter, what would the circumference be?

Answer: C=pi x diameter. So 3.14 x 24 inches = 74.36 inches
8. Philip goes to the hardware store to buy a water hose. The store only carries water hoses with a diameter of 1/4inches and a length of 12inches. How much does water can each hose carry? How many 1/4 inch hoses would it take to carry the same amount of water as a 1/2inch diameter hose with a length of 12inches? 

(HINT: Use the formula for volume. Remember Diameter=Radius2)


Answer: 1/4= 0.25  So. 3.14 x 0.25inches x 12inches = 9.42inches2


1/2= 0.5  So. 3.14 x 0.5inches x 12inches = 18.84inches2

It would take two 1/4inch by 12inch hoses to = one 1/2inch by 12inch hose.
9. Joe is carrying a log with a diameter of 16 inches by 72 inches and Philip is carrying two logs both with a diameter of 9 inches by 72 inches. Which person is carrying the most weight? (HINT: Use the formula for volume. Remember diameter=radius2. How much more weight is Joe carrying than Philip?


Answer: Joe is carrying…. 3.14 x 4inch2 x 72 = 3617.28inches2



Philip is carrying…. 3.14 x 3inch2 x 72 = 2034.72inches2


Therefore Joe is carrying more weight.

Joe is carrying ….3617.28/2034.72=1.78 more weight.

10. Jose is constructing a large tile structure with a radius of 6 feet. However, the center of the tiled circle will have a circular brass plate with a radius of 2 feet. What is the area of both the larger tile circle and the brass plate? How much tile should Jose buy.


Answer: First calculate the area of both circles. Larger area = 3.14 x 6feet2 = 113.04feet2
The area of the brass plate is 3.14 x 2feet2 = 12.56feet2
To find out how much tile Jose should buy take the area of the larger circle and subtract it by the area of the smaller one. 113.04 -12.56 = 
100.48feet2
Hose will need 100.48feet2 of tile.
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